Linear regression

Polynomial regression and basis functions
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Linear regression
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Non-linear relationship
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Polynomial regression
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3"order polynomial regression
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[Bas'\s functions \
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Basis functions: RBF
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RBF with ¢ = [1900, 1950, 2000] and h = 20
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RBF with ¢ = [1900, 1910, ...,2000] and & = 10
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Source: https://xkcd.com/2048/

CURVE-FITTING METHODS
AND THE. MESSAGES THEY SEND
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~ "HEY, I DDA
REGRESSION”

L S A
"I NEED TO CONNECT THESE
TWO LINES, BUT MY FIRST IDEA
DIDN'T HAVE ENOUGH MATH:

*IM SOPHISTICATED, NOT
LKE THOSE BUMBLING
POLYNOMIAL PEDPLE”

"LISTEN, SCENCE IS HARD.
BUT I A SEROUS
PERSON DONG MY BEST”

O CLEAN UP THE DATA.
WHAT DO YOU THINK?"

"L HAVE A THEORY,
AND THIS 15 THE ONLY
DATA T COULD FIND

| _— S
“P5 YOU (AN SEE, THIS
MODEL SMOOTHLY FiTS

THE- WAIT MOAND DONT
EXTEND IT ARARAA!




